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Winter Lily 
created by Lisa Overby 

Oversized triangle shawl is knit with 1 ball of Scheepjes Whirligig, a DK weight 

yarn that is designed to graduate from one colour to the next.  The best part, 

no ends to weave in from all the colour changes, the magic is in the yarn! 
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PATTERN INSTRUCTIONS 

Simple Lace Tab CO 

CO 3 sts 

Row 1: k1, yo, k2tog 

Repeat Row 1 six more times, rotate piece and pick up 
3 sts along the side edge, picking up 1 st for every 
ridge, pick and k 3 CO sts (9 sts) 

Note:  The first 3 sts and the last 3 sts of every row 
will be worked as follows to maintain the simple lace 
edge: k1, yo, k2tog; the pattern instructions will not 
include the edge instructions after Row 1 in the set up 
section; the st count given will not include the 6 edge 
sts 

 

 

Set Up 

Row 1 RS: k1, yo, k2tog (edge), pm, yo, p1, yo, pm, k1, 
pm, yo, k1, yo, pm, k1, yo, k2tog  (edge) (7 sts) 

Row 2 (WS): k the k sts and p the p sts and yarnovers 

Row 3: yo, k1, p1, k1, yo, k1, yo, k1, p1, k1, yo (11 sts) 

Row 5: yo, k2, p1, k2, yo, k1, yo, k2, p1, k2, yo (15 sts) 

Row 7: yo, k3, p1, k3, yo, k1, yo, k3, p1, k3, yo (19 sts) 

Row 9: yo, k4, p1, k4, yo, k1, yo, k4, p1, k4, yo (23 sts) 

Row 10: as Row 2 

MATERIALS & INFO 

Yarn: 1 ball Scheepjes Whirligig, 80% Virgin Wool, 20% 
Alpaca,  1000 m (1094 yards)/450 gram; Sample knit in 
colourway Grey to Blue 

Gauge: 18 sts  by 26 rows equal 4” by 4” in pattern 
before blocking 

Needles: 4.5 mm (US 7) 47” circular needles, or size 
needed to obtain gauge  

Notions: 4 stitch markers, darning needle 

Finished size: Wingspan: 68” (173 cm); Depth: 
34” (86.5 cm) 

Note: Shawl is not blocked to allow for the lace pat-
tern to remain squishy 

 

 

 

 

 

 

 

 

 

 

ABBREVIATIONS 

BO - Bind off 

cdd - centre double decrease; slip 2 stitches as if to 
k2tog, knit 1, pass 2 slipped stitches together over the 
knit stitch (2 stitches decreased)   

CO - Cast on 

k - knit 

k2tog - knit 2 together; insert needle into the next 2 

sts, knit the 2 sts together as one (1 st decreased) 

LHN - left hand needle 

P - purl 

RHN - right hand needle 

RS - right side 

ssk - slip, slip, knit; slip 2 sts knit wise, one at a time, 

to the right hand needle, place sts back on left hand 

needle and knit them together through their back 

loops (1 st decreased)  

st/sts - stitch/stitches 

tbl - through the back loop 

WS - wrong side 

yo - yarnover  (1 st increased) 
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PATTERN INSTRUCTIONS cont’d 

Main Pattern 

Row 11: yo, [p1, k2tog, k2, yo, k1, yo, k2, ssk], repeat to 
1 st before marker, p1, yo, sm, k1, sm, yo, [p1, k2tog, 
k2, yo, k1, yo, k2, ssk], repeat to 1 st before marker, p1, 
yo (4 sts increased) 

Row 12 (WS): k the k sts and p the p sts and yarnovers 

Row 13: yo, k1, [p1, k2tog, k1, yo, k3, yo, k1, ssk], re-
peat to 2 sts before, marker, p1, k1, yo, sm, k1, sm, yo, 
k1, [p1, k2tog, k1, yo, k3, yo, k1, ssk], repeat to 2 sts 
before marker, p1, k1, yo (4 sts increased) 

Row 15: yo, k2, [p1, k2tog, yo, k5, yo, ssk], repeat to 3 
sts before marker, p1, k2, yo, sm, k1, sm, yo, k2, [p1, 
k2tog, yo, k5, yo, ssk], repeat to 3 sts before marker, 
p1, k2, yo (4 sts increased) 

Row 17: yo, k3, [p1, k2, yo, ssk, k1, k2tog, yo, k2], re-
peat to 4 sts before, marker, p1, k3, yo, sm, k1, sm, yo, 
k3, [p1, k2, yo, ssk, k1, k2tog, yo, k2], repeat to 4 sts 
before marker, p1, k3, yo (4 sts increased) 

Row 19: yo, k4, [p1, k3, yo, cdd, yo, k3], repeat to 5 sts 
before marker, p1, k4, yo, sm, k1, sm, yo, k4, [p1, k3, 
yo, cdd, yo, k3], repeat to 5 sts before marker, p1, k4, 
yo (4 sts increased) 

Row 20: as Row 12 

Repeat Rows 11 to 20 seventeen more times (383 sts) 

Repeat Rows 11 to 14 one more time (391 sts) 

Reminder: St counts do not include the 6 edge sts 

Finishing 

BO all sts using the icord BO as follows: 

Step 1: Cable CO 3 sts; *insert RHN between 1st and 
2nd st on LHN, wrap working yarn and draw through 
so that you have a new st on your RHN, place the new 
st on the LHN; repeat from * two more times for a 
total of three new sts 

Step 2: k2, k2tog tbl, three sts on the RHN 

Step 3: slip these three sts back to the LHN 

Repeat Steps 2 and 3 until all the sts have been 
worked 

Weave in ends and enjoy! 

 

 

 

 

 

 


